L’addition écrite 			Devoir 1
1. Place et effectue 7 calculs au choix !
24 785 + 39 248 =			709 625 + 857 948 =		248 724 + 875 425 =
3 754 + 7 387 + 629 =		204 + 1 207 + 4 405 =		428,049 + 247,407 =
217,842 + 17, 798 =		487, 457 + 212,9 =			897 + 125,859 =

2. Place et complète les opérations suivantes !	
49, . 2  + . 5,29 = 8 . , 0 .			. 4 . , 3 + 6 . 6 , . 2 = 1 264,32	

L’addition écrite 			Devoir 1
1. Place et effectue 7 calculs au choix !
24 785 + 39 248 =			709 625 + 857 948 =		248 724 + 875 425 =
3 754 + 7 387 + 629 =		204 + 1 207 + 4 405 =		428,049 + 247,407 =
217,842 + 17, 798 =		487, 457 + 212,9 =			897 + 125,859 =

2. Place et complète les opérations suivantes !	
49, . 2  + . 5,29 = 8 . , 0 .			. 4 . , 3 + 6 . 6 , . 2 = 1 264,32	

L’addition écrite 			Devoir 1
1. Place et effectue 7 calculs au choix !
24 785 + 39 248 =			709 625 + 857 948 =		248 724 + 875 425 =
3 754 + 7 387 + 629 =		204 + 1 207 + 4 405 =		428,049 + 247,407 =
217,842 + 17, 798 =		487, 457 + 212,9 =			897 + 125,859 =

2. Place et complète les opérations suivantes !	
49, . 2  + . 5,29 = 8 . , 0 .			. 4 . , 3 + 6 . 6 , . 2 = 1 264,32	


L’addition écrite 			Devoir 1
1. Place et effectue 7 calculs au choix !
24 785 + 39 248 =			709 625 + 857 948 =		248 724 + 875 425 =
3 754 + 7 387 + 629 =		204 + 1 207 + 4 405 =		428,049 + 247,407 =
217,842 + 17, 798 =		487, 457 + 212,9 =			897 + 125,859 =

2. Place et complète les opérations suivantes !	
49, . 2  + . 5,29 = 8 . , 0 .			. 4 . , 3 + 6 . 6 , . 2 = 1 264,32	


L’addition écrite 			Devoir 2
1. Place et effectue 7 calculs au choix !
27 956 + 32 875 =		40 225 + 19 975 = 			17 295 + 12 750 =
232,46 + 437,79 = 		432,784 + 247,647 = 		426,46 + 254,98 =
243,12 + 7,24 + 53,21 =	457,27 + 9,48  + 48,705 =	3,674 + 0,87 + 5,642 =
2. Place et complète les opérations suivantes !	
3 . 7 ,  . 5  + . 2 . = 970,75			. 25, . . + 466,74. =1 39 . , 395


L’addition écrite 			Devoir 2
1. Place et effectue 7 calculs au choix !
27 956 + 32 875 =		40 225 + 19 975 = 			17 295 + 12 750 =
232,46 + 437,79 = 		432,784 + 247,647 = 		426,46 + 254,98 =
243,12 + 7,24 + 53,21 =	457,27 + 9,48  + 48,705 =	3,674 + 0,87 + 5,642 =
2. Place et complète les opérations suivantes !	
3 . 7 ,  . 5  + . 2 . = 970,75			. 25, . . + 466,74. =1 39 . , 395


L’addition écrite 			Devoir 2
1. Place et effectue 7 calculs au choix !
27 956 + 32 875 =		40 225 + 19 975 = 			17 295 + 12 750 =
232,46 + 437,79 = 		432,784 + 247,647 = 		426,46 + 254,98 =
243,12 + 7,24 + 53,21 =	457,27 + 9,48  + 48,705 =	3,674 + 0,87 + 5,642 =
2. Place et complète les opérations suivantes !	
3 . 7 ,  . 5  + . 2 . = 970,75			. 25, . . + 466,74. =1 39 . , 395


L’addition écrite 			Devoir 2
1. Place et effectue 7 calculs au choix !
27 956 + 32 875 =		40 225 + 19 975 = 			17 295 + 12 750 =
232,46 + 437,79 = 		432,784 + 247,647 = 		426,46 + 254,98 =
243,12 + 7,24 + 53,21 =	457,27 + 9,48  + 48,705 =	3,674 + 0,87 + 5,642 =
2. Place et complète les opérations suivantes !	
3 . 7 ,  . 5  + . 2 . = 970,75			. 25, . . + 466,74. =1 39 . , 395


L’addition écrite 			Devoir 3
1. Place et effectue 7 calculs au choix !
7 3146 + 878 + 62 + 429 = 		437 004 + 64 800 + 36 + 123 =
429,42 + 83,678 =		756,86 + 86,936 = 		708,02 + 59,8 =
17 317 + 421,515 + 31,2 = 		725,351 + 24 629 + 19,75 =
8 965 758,39 + 19 659 003, 498 = 		9 987,56 + 89 672,63 + 32,0896 =
2. Place et complète les opérations suivantes !	
1 . . . 7, 1  + 6 27 . , 25 = . 8 775, . 5   	62 . + . 37 + . 58 = 1 3.3

L’addition écrite 			Devoir 3
1. Place et effectue 7 calculs au choix !
7 3146 + 878 + 62 + 429 = 		437 004 + 64 800 + 36 + 123 =
429,42 + 83,678 =		756,86 + 86,936 = 		708,02 + 59,8 =
17 317 + 421,515 + 31,2 = 		725,351 + 24 629 + 19,75 =
8 965 758,39 + 19 659 003, 498 = 		9 987,56 + 89 672,63 + 32,0896 =
2. Place et complète les opérations suivantes !	
1 . . . 7, 1  + 6 27 . , 25 = . 8 775, . 5   	62 . + . 37 + . 58 = 1 3.3


L’addition écrite 			Devoir 3
1. Place et effectue 7 calculs au choix !
7 3146 + 878 + 62 + 429 = 		437 004 + 64 800 + 36 + 123 =
429,42 + 83,678 =		756,86 + 86,936 = 		708,02 + 59,8 =
17 317 + 421,515 + 31,2 = 		725,351 + 24 629 + 19,75 =
8 965 758,39 + 19 659 003, 498 = 		9 987,56 + 89 672,63 + 32,0896 =
2. Place et complète les opérations suivantes !	
1 . . . 7, 1  + 6 27 . , 25 = . 8 775, . 5   	62 . + . 37 + . 58 = 1 3.3


L’addition écrite 			Devoir 3
1. Place et effectue 7 calculs au choix !
7 3146 + 878 + 62 + 429 = 		437 004 + 64 800 + 36 + 123 =
429,42 + 83,678 =		756,86 + 86,936 = 		708,02 + 59,8 =
17 317 + 421,515 + 31,2 = 		725,351 + 24 629 + 19,75 =
8 965 758,39 + 19 659 003, 498 = 		9 987,56 + 89 672,63 + 32,0896 =
2. Place et complète les opérations suivantes !	
1 . . . 7, 1  + 6 27 . , 25 = . 8 775, . 5   	62 . + . 37 + . 58 = 1 3.3
